
 

( Mega 5 ) 

U 2 , (  Grammar )         

A- Choose the correct answer : 

 

1– John used to …………………………… , but he quit. 

          a – smokes                                      -b- smoke                        -c-  smoking 

  

    2 – They are used to …………………………… early  . 

           a – get                                            -b- getting                       -c-  gets 

 

    3 –  I …………………………… the weather in this country  . 

           a – used to                                      -b- am use                        -c-  am used to 

 

    4 –  He …………………………… be afraid of the dark  . 

           a – am used                                       -b- would                         -c-  used to 

    5 –  I was …………………………… you yesterday, but I forgot  . 

           a – going to ring                               -b- going ring                   -c-  going to rings 

B- Do as shown between brackets .  

  1 –  I ( drive ) to work everyday but these days I usually go by bike .      ( Use  " Used to  "  ) 

…………………………………………………………………………………………………………………………………………………………………… 

  2 –  When we were young, our mother ( cook ) delicious meals everyday .    ( Use   ‘’  would  ‘’   ) 

…………………………………………………………………………………………………………………………………………………………………… 

  3 –  He used to play basketball before the accident .                                       ( Negative ) 

…………………………………………………………………………………………………………………………………………………………………… 

  4 –  I have worn glasses for 10 years so I am used to ( wear ) them .               ( correct ) 

…………………………………………………………………………………………………………………………………………………………………… 

  5 –  the match / were / see / you / going to/ but / they / /canceled / was / it . ( Rearrange ) 

…………………………………………………………………………………………………………………………………………………………………… 


